Vypočítaj:

1.úloha
3 + 6 =


10 – 3 =

12 + 4 = 

20  –  5 =  

8 – 4 =


  8 – 2 = 

16 + 4 = 

20 – 15 = 

5 + 2 =


  9 – 4 = 

13 + 6 = 

18 –  6  =

4 – 1 =


  7 + 3 =

17 + 2 = 

18 – 16 =
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2.úloha:

9 >


8 <


6 >


11 <
5 =


7 >


6 =


20 >
3 <


1 <


6 <


15 >

3. úloha

Daj do krúžku všetky čísla, ktoré sú pred číslom 9

1  2  3  4  5  6  7  8  9  10  11  12  13  14  15  16  17  18  19  20 
Daj do krúžku číslo, ktoré je hneď za číslom 15
1  2  3  4  5  6  7  8  9  10  11  12  13  14  15  16  17  18  19  20 
4. úloha
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 5  +        = 8

10  -        = 3



6  +        = 7 

9  +         = 10



8  -         = 4

4  +         = 14



